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10. [Maximum mark: 14]
A forest has a large number of tall trees. The heights of the trees are normally distributed with

a mean of 53 metres and a standard deviation of 8 metres. Trees are classified as giant trees if
they are more than 60 metres tall.

(a) Atree is selected at random from the forest.

(i) Find the probability that this tree is a giant.

(ii) Given that this tree is a giant, find the probability that it is taller than 70 metres. [6]
(b) Two trees are selected at random. Find the probability that they are both giants. [2]
(c) 100 trees are selected at random.

(i) Find the expected number of these trees that are giants.

(ii) Find the probability that at least 25 of these trees are giants. [6]
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